B$ER3S7 J7a7Idy
LEHEMECORBEEFRMISDIHH -BELXFNDOHLHE-BE=E] (FH3EE)

(E+nl& x 10", 5 Z [EE+31% X 10000 EKTY S, )

HEH = (ke/ ) BENE (kg/HF)

#B3E HHE
FR | MARE xoin | ke | EDP| B | T~ mm| Bns | EBE
= DHEH | DHEH AR B T &5 DBRB=E| K &&t = A

1 |dtiE

2 |EHE

3 |AFE

4 |EHE

5 (AR

6 IR

7 [EER

8 |ZWE

9 [WHARE

10 |HBER

11 |BER

12 |TER

13 |HREER

14 |[#E)E

15 |FriRE

16 |[EWE

17 |RIIE

18 |BHE

19 |ILBE

20 |RHE

21 (KBE

22 |E&mER

23 |BHE

24 |ZER

25 |#HER

26 |FARRT

27 | KRFF

28 |EER

29 |ZRER

30 |FnFLER

31 |BHRE

32 |BRE

33 |FWE

34 |LER

35 |lLOR

36 |EER

37 |BNR

38 |BIRER

39 |EER

40 |fEREE

41 [EBR 7.5E+0 75 1.2E+3 1,200.0 1,207.5
2 |RIBER

43 |REARR

44 | KHR

45 |FIFER

46 |EBESER 2.5E+0 25 25
47 |[HiER
£ E 7.5E+0 75 1.2E+3 1,202.5 1,210.0
1)

EEE . IO7IAN)—HRE (B REERVATLEEHE

A




